www.Honda-Accessories.com

HONDA

INSTALLATION
INSTRUCTIONS

Accessory

CASSETTE PLAYER

Agpplication Publications No.

All 20633

2000 CR-V (EX)

Issue Date

OCT 1999

PARTS LIST

Cassette Player Attachment:
P/N 08B12-510-100F

Right bracket

Left bracket

2 Wire clips

4 Washer-screws, 4 X 8 mm
(not used)

2 Washer-screws, 5 x 8 mm

2 Bolts, 5 x 10 mm
(not used)

Cassette Player (sold separately):
P/N 08A03-5B1-050

Cassette player

4 Washer-screws, 5 X 8 mm

Owner’s Manual

Wire tie

@ 1999 Amarican Honda Motor Ca., Inc. — All Rights Reservad

Copyri ght © 2000 Anerican Honda Mot or Co.

w @) @l

&
c

Y0540-C

TOOLS REQUIRED
Diagonal cutters
#2 Philtips screwdriver

INSTALLATION

Customer Information: The information in this
installation instruction is intended for use only by
skilled technicians who have the proper tools,
equipment, and training to correctly and safely add
equipment to your vehicle. These procedures should

not be attempted by “do-it-yourselfers.”

1. I equipped, make sure that you have the
anti-theft code for the radio, then write down the
frequencies for the preset buttons on the radio.

2. Slide the driver's seat completely to the rear.

3. Disconnect the negative cable from the battery.

4. Open the glove box. Squeeze the retaining tabs,
and remove the stop. Pull the glove box down.

Puil the glove box
down afl the way.

RETAINING
TABS

08B12-510-1000-01

10f5

Inc. All Rights Reserved



Trevor  Allen



www.Honda-Accessories.com

5. Remove the driver’s dashboard lower cover (two MT Model:
self-tapping screws, four retaining clips and one « Remove the change lever knob by sliding the
connectar). boot down while pressing down on the two
retaining tabs at the bottom of the knob, then
GLASS HATCH RETAINING by turning it counterclockwise.

OPENER CONNECTOR  CLIpS

cLIP

/ CHANGE
/ LEVER
KNOB

5
DRIVER’S DASHBOARD

LOWER COVER SELF- s
TAPPING ‘@
[;// SCREWS -
Pull > LOWER
~ \ | CONSOLE COVER
I J
CORRECT  INCORRECT SELF-TAPPING SCREW

8. Remove the lower console cover. .
+ Remove the four self-tapping screws and two

AT Model: clips fastening the lower center console cover
» Remove the two self-tapping screws attaching and remove the console cover.
the right side of the center console. + Remove the four self-tapping screws securing
SELF-TAPPING the console pocket and remove the pocket.
/ SCREWS
(SHORT) SELF-TAPPING
3 SCREW

CENTER
CONSOLE ..
SELF-
" TAPPING
SCREWS
(LONG)
SELF-
TAPPING -
SCREWS
(SHORT) - S CONSOLE
. POCKET
cup 7 ~ RETAINING
LOWER CONSOLE CLIPS LOWER CENTER
COVER / CONSOLE LINING
CLIP
» Remove the two clips attaching the lower
ngisnoleiﬁngr;;h%lremove the cover by » Remove the two clips that fasten the lower
pufiing you. center console lining and remove the lining by
+ Remove the two self-tapping screws from the lifting it upward.
bottom of the center console, open the console
pocket, and remove the four self-tapping
screws behind the pocket.
20f5 All 20633 (9910) © 1899 American Honda Motor Go.. Inc. - Al Rights Reserved

Copyri ght © 2000 Anerican Honda Motor Co. Inc. Al Rights Reserved


Trevor  Allen



www.Honda-Accessories.com

7. Remove the center dashboard lower cover.

AT Model: Gently pull the center dashboard lower
cover toward you to release the three clips, then
unplug the two connectors.

VEHICLE HARNESS
CONNECTORS

/%CCESSORY

/ SOCKET "

CENTER
DASHBOARD
LOWER
COVER

CLIPS

MT Model:

* Remove the five self-tapping screws fastening
the center dashboard lower cover and pull the
console out foward you to release the three
retaining clips.

CLIP

8. Remove and retain the two screws aftaching the
center panel, and remove the panel:

* Unplug the 16-pin connector and antenna lead
from the radio.

CLIMATE CONTROL

UNIT CONNECTORS —
= &

ANTENNA LEAD

16-PIN
CONNECTOR

SCREW
(reused)

* Unplug the two connectors from the ¢climate
control unit.

9. Remove and retain the four washer-bolts that
attach the radio to the center panel, then remove
the radio.

WASHER-
BOLTS
{Reuse.)
RADIO
CENTER PANEL
CENTER SELF-TAPPING
DASHBOARD SCREW
LOWER COVER
¢ Unplug the two connectors, and remove the
center dashboard lower cover.
@ 1999 American Honda Motor Co., Inc. — All Rights Reserved All 20633 (9910} 30f5

Copyri ght © 2000 Anerican Honda Motor Co. Inc. Al

Ri ghts Reserved


Trevor  Allen



www.Honda-Accessories.com

10. Separate the pocket from the radio by removing
the two self-tapping screws.

RADIO

POCKET
(Discard.) BRACKET
(Discard.)
SELF-TAPPING
SCREW
(Discard.)

11. Remove the four self-tapping screws, and remove
and discard the existing radio brackets from the
center panel. Retain the four self-tapping screws.

CENTER PANEL

SELF-TAPPING
SCREW
(Reuse.)

12. Attach the new left and right brackets to the
center panel using the self-tapping screws
removed in step 11.

CENTER PANEL

LEFT BRACKET

/ SELF-TAPPING

SELF-TAPPING
SCREW
(reused)

RIGHT BRACKET

13. Place the radio onto the cassette player. Slide the
radio assembly into the center panel, and install
the eight washer-bolts (four removed in step 9,
and four provided with the cassette player).

CENTER
PANEL

LEFT SCREWS
BRACKET (reused)

PLAYER

58 mm
WASHER-
SCREWS
SCREWS {ncluded in
(reused) { the Cassetle
Pilayer.)
5x 8mm RIGHT
WASHER-SCREWS BRACKET

{included in the
Cassette Player)

/ BBACKET
SELF-TAPPING  (Discard)
SCREW
(Reuse.)
4of5 Al 20633 (9910) © 1999 American Honda Molor Co.. Inc. - A Righls Reserved

Copyri ght © 2000 Anerican Honda Motor Co. Inc. Al Rights Reserved


Trevor  Allen



www.Honda-Accessories.com

14. install the clip to the rear of the cassette player
with ane washer-bolt.

RADIO

CASSETTE
PLAYER CONNECTOR

CLIP
CASSETTE PLAYER

WASHER-BOLT

15. Plug the connector from the cassette player into
the rear of the radio; then fold and secure the
BUS cable with the wire clip.

16. Plug the antenna lead and the 16-pin connector
into the rear of the radio, and install the center
panel on the dash:

= Check that the six retaining clips on the back of
the center panel are not deformed or damaged.

Noise may result if the clips are deformed and 2t
are not properly installed. Replace the clips if 55
they are deformed or damaged: )
4 Clips {small) P/N 90666-510-003
2 Clips (large) P/N 90666-SD4-003
BACK OF
&&:‘Zﬁ) THE RADIO
PANEL
CLIP cLp
(large) (large)
@ 1999 American Honda Motor Co., Inc. ~ All Rights Reserved Al1 20633 (9910}

17.

i8.

19.

20.

» Be sure to insert the retaining clips securely
into the slots in the dash when installing the
center panel on the dash.

SCREW
(reused)

* Reinstall the two screws removad in step 8.
Reinstall all removed parts.

Check that all wire harnesses are routed properly
and all connectors are plugged in.

Reconnect the negative cable to the battery.

If equipped, enter the customer’s radio anti-theft
code, and reset the radio station preset buttons.

Reset the clock.
Check that the cassette player operates properly

according to the Owner’s Manual that comes with
the unit.

50f5

Copyri ght © 2000 Anerican Honda Motor Co. Inc. Al Rights Reserved


Trevor  Allen



